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AN XL
M OHLEEAX U OHEALS
Sol KON AY =W CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
A g st 21,272,067 13,075,258 8,196,809
= 2,208,860
Xl 4,527,000
< 4,823,650
s 9,712,557
HNEE=LX 2L HEALS 1,050,740 2,724,590 A 1,673,850
X 645,000
[ia 405,740
NSMEAE =2 60,000 40,000 20,000
EEXNY FLU=SJAAY 60,000 40,000 20,000
401 AIEHI L 20 60,000 40,000 20,000
01 A& HI 60,000 40,000 20,000
OX= =02 etz FdlAeY
20,000,000& =14 20,000
OM& 202 S 2HE dHIdAY
20,000,000& » 14 20,000
OK3dl Ct30t2 XSS LY SA
20,000,000 » 14 20,000
el ZE S HEAZE =& 9,740 12,590 A 2,850
elXE & HWEAZE F& 9,740 12,590 A2,850
201 L4l 5,000 5,000 0
01 At 22l 5,000 5,000 0
Oos=2E M= 1,100,000& 28 2,200
Og=9% M= 250,000& x4 1,000
oug gz7¢ 150,000& = 12& 1,800
202 044l 2,340 2,340 0
01 S LHOIYI 2,340 2,340 0
OCIXE S HEAMY g2 =4
60,000 »3H 132 2,340
301 et a = 2,400 2,400 0
09 &AL HI B &S 2,400 2,400 0
ODISFY L 2AZoH 39 S FAT 24
60,000& *40H 13 2,400
HNEEAX AU SR ALY 981,000 2,672,000 A 1,691,000
Xl 645,000
s 336,000
HEEXR AL 32,000 78,000 A 46,000
401 A& HIZ 201 I 32,000 78,000 A 46,000
01 A& HI 32,000 78,000 A 46,000
ONE(EZ) sXZeAg 32,000
— M 1,000,000& = 10km 10,000
—SZ28 ZHI0I 500,000& = 10km 5,000
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AN XL
M OHLEEAX U OHEALS
SRl HLEIXAUH SIHX ALY (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
—tEMAIEE FHI 1,000,000& » 10km 10,000
— S22 HXE Fbl 700,000& = 10km 7,000
HEEXXAMNL (=00 SLEHH) 949,000 2,594,000 A 1,645,000
Xl 645,000
[ia 304,000
401 AIEHI L 201 949,000 2,594,000 A 1,645,000
Xl 645,000
s 304,000
01 A& tl 943,058 2,584,661 A 1,641,603
OXS3IAHAMS 943,058
—#=olo] SLMES SE MBEX JUE
ALY 943,058,000& *1 943,058
Xl 645,000
i 298,058
03 A& S THHI 5,942 9,339 A 3,397
OXE& A A 5,942
— A= SLUEHE S& dE=T Jlgtx
AL 943,058,000& *0.63% 5,942
AL ™AL 16,670 25,670 29,000
ANSgaIe 24Ag 16,670 25,670 A9,000
ANALHZH HLAS 16,670 25,670 A 9,000
201 et 9,470 9,470 0
01 At 22l 9,470 9,470 0
OXNGdSFAY F& 2FHH| 3,000,000& 3,000
OXNSEEHFAYE =& =Hl 7,000 «3H 70 1,470
oxggd 2= M 1,000, 000& *54! 5,000
202 04l 7,200 7,200 0
01 = LH 4 Hi 7,200 7,200 0
OXNAHSAY =& HHl 60,0002 «3H 40 7,200
MEEE 2435 20,147,753 10,276,976 9,870,777
= 2,208,860
X 3,882,000
= 4,823,650
s 9,233,243
At s¢de x4 20,147,753 10,276,976 9,870,777
= 2,208,860
Xl 3,882,000
< 4,823,650
s 9,233,243
Gty s2Ee =4 3,250,000 0 3,250,000
< 3,250,000
401 Al HI K 201 3,250,000 0 3,250,000
< 3,250,000




AN XL
Ha: MUY BAE
Sl MA BB E4 CEEEED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 A& HI 3,241,248 3,241,248
OZHIEx= AL 3,241,248
— A s e LMY 3,241,248,000& 3,241,248
S 3,241,248
03 Al SR THHI 8,752 8,752
OZHIEx= AL 8,752
— JIEt& Y| 3,241,248,000& *0.27% 8,752
< 8,752
AMASHW TS (XA 1,026,831 1,026,831
401 AIEHI L 2CHEI 1,026,831 1,026,831
01 A& tI 1,020,000 1,020,000
ORM-ZEI GIHCR HTEHBA
00,000,000& =14 300,000
Ottt sl F2AHE ALY
570,000,000 =14 570,000
OUSE~XNREH ABEZ2 IMRI| ZHIA
150,000, 000& * 14 150,000
03 Al 2 THHI 6,831 6,831
ORJo~ZE2t ABEZ X IA
300,000,000& *0.72% 2,160
Ottat s el F2AHE ALY
570,000,000& *0.63% 3,591
OUSE~XNREH ABEZ IMRI| ZHIA
150,000, 000& *0.72% 1,080
A9 = =& (XHA) 60,540 60,540
401 AIEHI L 2CHEI 60,540 60,540
01 A& Bl 60,000 60,000
OXlRo= XsdH HWRldH 2o
60,000,000& =14l 60,000
03 Al =2 THHI 540 540
OJIEHE HI 60,000,000& *0.90% 540
st M8 oflg2elMye S (KHA) 342,448 342,448
401 Al HI R 201 I 342,448 342,448
01 A& HI 340,000 340,000
OZLAEME LR 2H 2o
140,000, 000& * 14 140,000
OtZgdFaotaeldy =HFH S A
200,000,000 =14 200,000
03 AIE 2 THHI 2,448 2,448
OZHAEME LR 2l 2o
140,000,000& *0.72% 1,008
Otz a2ty =HFH S A
200,000,000& *0.72% 1,440




AN XL
Ha: MUY BAE
el Ma BOWR X4 CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
MEMUEHESHESHA =4 5,000,000 1,800,000 3,200,000
X 2,500,000
< 750,000
s 1,750,000
401 Al HI R 201 I 5,000,000 1,800,000 3,200,000
Xl 2,500,000
< 750,000
s 1,750,000
01 A& 8l 4,986,536 1,793,520 3,193,016
OXNESAHA L 4,986,536
—MEHEHESMEHN =4
4,986,536,000& » 14! 4,986,536
Xl 2,500,000
< 750,000
[ia 1,736,536
03 Al S THHI 13,464 6,480 6,984
OXE3 A AL 13,464
—MBMEHESMEHN =4
4,986,536,000& *0.27% 13,464
Hetat oot 5 MEXN R =4 3,000,000 3,091,000 291,000
= 1,500,000
< 450,000
[ia 1,050,000
401 AIEHI L 20HEI 3,000,000 3,091,000 291,000
= 1,500,000
< 450,000
i 1,050,000
01 A& HI 2,989,238 3,082,654 A 93,416
OZ3HIE= A 2,989,238
—HEgH s SSHERNR M
2,989,238,000& 14! 2,989,238
= 1,500,000
< 450,000
[ 1,039,238
03 A& =2 THHI 10,762 8,346 2,416
O3HIEX ALY 10,762
— AN s SLMENR =4
2,989,238,000& *0.36% 10,762
MEYEZEZAIEXH 2,000,000 0 2,000,000
Xl 1,000,000
< 300,000
[ia 700,000
401 AIEHI L 201 2,000,000 0 2,000,000
Xl 1,000,000
< 300,000
s 700,000
01 A& Bl 1,992,825 0 1,992,825
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AN XL
Ha: NYBY B
Sl M4 BYwal X4 CEEEED
SA - BB B () - MM - BES Ol &t o San HmEET
OX Sl H AL 1,992,825
— MY EEALETHE 1,992,825,000& 14 1,992,825
X 1,000,000
< 300,000
s 692,825
03 Al 2 0HHI 7,175 0 7,175
OXSal A A 7,175
—MEAUTEALEA
1,992,825,000& *0.36% 7,175
Atptserdip] 2435 2,094,942 35,976 2,058,966
201 LBt | 54,942 35,976 18,966
01 At 22l 21,066 20,256 810
OUO== A Xt 275,000 128 3,300
O&d==J| dxt 63,000& x12& 756
oug Ma ss+¢ 150,000& =122 1,800
OFyde =l 7,000& x7H*90 4,410
o4& fIds =¢ 70,0003 x10Y x4 3] 2,800
Ottats¢del 2= ME  1,000& +8,0000H 8,000
02 3322l 33,876 15,720 18,156
Osdde &2 A2 dIIe=3 ¥ &Itz
ol =2 33,876
—&NIlea 23,400
2o otRESZE 1,800,000& 9 16,200
Asods gd4dd 800,000& x9A 7,200
— &It AL |HE =2 10,476
2o StESLE 900,000& +x9& 8,100
Asods gd4dd 264,000 x93 2,376
207 A RO 40,000 0 40,000
02 & &I 2 b 40,000 0 40,000
Ogtstarsrdiel EMHOIX *=
40,000,000& =14 40,000
403 A X EHHS =0l A 2,000,000 0 2,000,000
02 SO 2SO0 HEHAHE X 2| &AL H 2,000,000 0 2,000,000
OME 2 SIOIIHAIC AEL 2 HE S A
2,000,000, 0003 » 14 2,000,000
Nolg=mas EA (FUAZE, 48 AT 227,500 0 227,500
2l EEAY)
X 182,000
< 13,650
s 31,850
401 A& HIZ 201 I 162,500 0 162,500
X 130,000
< 9,750
s 22,750
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SN KIS
Ha: NYBY B
Sl M4 BYwal X4 (sl &2)
SA - BB B () - MM - BES Ol &t o San HmEET
01 A& HI 162,500 0 162,500
OXSZ A A 162,500
—MEANE AEZABA(HLIAGRA)
162,500,000& 1= 162,500
Xl 130,000
< 9,750
s 22,750
405 TtHabF S| 65,000 0 65,000
Xl 52,000
< 3,900
[ia 9,100
01 AL EFHSHI 65,000 0 65,000
OXS2AH AL 65,000
— U ARHTME 7E Y AANABCY
65,000,000& =14l 65,000
Xl 52,000
< 3,900
s 9,100
thsa =Y MY 400,000 0 400,000
Xl 200,000
< 60,000
s 140,000
401 Al HI K 201 I 400,000 0 400,000
X 200,000
< 60,000
s 140,000
01 A& HI 397,140 0 397,140
OXSal A AL 397,140
—Usa AE=E2E =4 397,140,000 x 14 397,140
Xl 200,000
< 60,000
s 137,140
03 AIE 2 0HHI 2,860 0 2,860
OXSE A A 2,860
s MESE Z4
397,140,000& *0.72% 2,860
AN HX S ALY 1,624,492 0 1,624,492
= 708,860
i 915,632
401 Al HIZ 2018 1,624,492 0 1,624,492
= 708,860
i 915,632
01 A& HI 1,618,664 0 1,618,664
O=HIEXAY 1,618,664
— ATHA Ol 4 KT & X AFS
1,618,664,000& 14 1,618,664
= 708,860




AN XL
Ha: MUY BAE
Helr My F2ee 24 (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
= 909,804
03 Al 2 THHI 5,828 0 5,828
OZHIEx= AL 5,828
—ATHAO0I A X & X ALY DI EtZ HI
1,618,664,000& *0.36% 5,828
eS| UK E S AL 1,121,000 0 1,121,000
401 Al HIZ 201 8] 1,121,000 0 1,121,000
01 A& HI 1,114,700 0 1,114,700
Odttats el X NEah AFY
1,000,000, 000& 14 1,000,000
O& A& AlHI 93,000,000 93,000
OstdHA 2E2 21,700,000& 21,700
03 A& S THHI 6,300 0 6,300
OJIEt & I 1,000,000,000& *0.63% 6,300
HE2IAZH (XS 56,904 48,022 8,882
Jl=3l 56,904 48,022 8,882
Jl2&l 56,904 48,022 8,882
201 Let2d] 29,304 27,022 2,282
01 At 22l 29,304 27,022 2,282
ORNSH 1,831,000& »12H 21,972
O= &l 2,100
— S204dl 7,0003 x12H +25& 2,100
O=S A Xt 5,232
— Z A=A 286,000 1CH 123 3,432
— SWEALD] 150,000 «1CH+12& 1,800
202 O4dl 21,600 18,000 3,600
01 = LH 4 1l 21,600 18,000 3,600
O2LH o HI 100,000 12 «12& 14,400
O&2| o di 75,0003 x12H 8L 7,200
203 YR =&l 6,000 3,000 3,000
03 AIHZ=XH 2 =AY 3,000 0 3,000
OXNSLIAE L HEAMY AIMBRF=AHI
3,000,000& 3,000
04 RENSELR=LH| 3,000 3,000 0
OFRN2IYSZ=AHI 250,000& »12& 3,000




